
INVERSE TRIGONOMETRICE FUNCTIONS 1Q 
 

41. 4 tanିଵ ଵ

ହ
െ tanିଵ ଵ

ଶଷଽ
is equal to 

 a) 𝜋 b) 
𝜋
2

c)
𝜋
3

d) 
𝜋
4

42. 
tanିଵ ට௔ሺ௔ା௕ା௖ሻ

௕௖
൅ tanିଵ ට௕ሺ௔ା௕ା௖ሻ

௖௔
൅ tanିଵ ට௖ሺ௔ା௕ା௖ሻ

௔ ௕
, is

 a) 𝜋/4 b) 𝜋/2 c) 𝜋 d) 0 
43. If secିଵ √1 ൅ 𝑥ଶ ൅ cosecିଵ ඥଵା௬మ

௬
൅ cotିଵ ଵ

௭
ൌ 𝜋, then 𝑥 ൅ 𝑦 ൅ 𝑧 is equal to

 a) 𝑥𝑦𝑧 b) 2𝑥𝑦𝑧 c) 𝑥𝑦𝑧ଶ d) 𝑥ଶ𝑦𝑧 
44. If tanିଵሺ𝑥 െ 1ሻ ൅ tanିଵ 𝑥 ൅ tanିଵሺ𝑥 ൅ 1ሻ ൌ tanିଵ 3𝑥, then 𝑥 is
 a) േ

1
2

 b) 0,
1
2

 c) 0, െ
1
2

d) 0, േ
1
2

 

45. If sinିଵ 𝑥 ൅ sinିଵ 𝑦 ൅ sinିଵ 𝓏 ൌ
ଷగ

ଶ
, then the value of 𝑥ଵ଴଴ ൅ 𝑦ଵ଴଴ ൅ 𝓏ଵ଴଴ െ

ଽ

௫భబభା௬భబభା𝓏భబభis

 a) 0 b) 1 c) 2 d) 3 
46. sinିଵ 𝑥 ൅ sinିଵ ଵ

௫
൅ cosିଵ 𝑥 ൅ cosିଵ ଵ

௫
is equal to

 a) 𝜋 b) 
𝜋
2

c)
3𝜋
2

d) None of these

47. ∑ tanିଵ ቀ ଶ௠

௠రା௠మାଶ
ቁ௡

௠ୀଵ  is equal to 

 
a) tanିଵ ቆ

𝑛ଶ ൅ 𝑛
𝑛ସ ൅ 𝑛ଶ ൅ 2

ቇ b) tanିଵ ቆ
𝑛ଶ െ 𝑛

𝑛ଶ െ 𝑛 ൅ 2
ቇ c) tanିଵሺ𝑛ଶ ൅ 𝑛 ൅ 2ሻ

d) None of these

48. If sinିଵ 𝑎 ൅ sinିଵ 𝑏 ൅ sinିଵ 𝑐 ൌ 𝜋, then the value of

𝑎ඥሺ1 െ 𝑎ଶሻ ൅ 𝑏ඥሺ1 െ 𝑏ଶሻ ൅ 𝑐ඥ1 െ 𝑐ଶሻwill be
 a) 2𝑎𝑏𝑐 b) 𝑎𝑏𝑐 c)

1
2

𝑎𝑏𝑐 d) 
1
3

𝑎𝑏𝑐

49. Which one of the following is correct?
 a) tan 1 ൐ tanିଵ 1 b) tan 1 ൏ tanିଵ 1 c) tan 1 ൌ tanିଵ 1 d) None of these
50. The value of cosሺ2 cosିଵ 0.8ሻ is 
 a) 0.48 b) 0.96 c) 0.6 d) None of these
51. The solution  of tanିଵ 2𝑥 ൅ tanିଵ 3𝑥 ൌ

గ

ସ
is

 a) 
1
6

 b) െ1 c) ൬
1
6

, െ1൰
d) None of these

52. The value of cos ቂଵ

ଶ
cosିଵ ቄcos ቀsinିଵ √଺ଷ

଼
ቁቅቃ, is

 a) 
3

16
 b) 

3
8

 c)
3
4

d) 
3
2

 

53. If 0 ൑ 𝑥 ൑ 1, then cosିଵሺ2𝑥ଶ െ 1ሻ equals
 a) 2 cosିଵ 𝑥 b) 𝜋 െ 2 cosିଵ 𝑥 c) 2𝜋 െ 2 cosିଵ 𝑥 d) None of these
54. The value of sin ሺcotିଵ 𝑥ሻ is 
 a) ඥ1 ൅ 𝑥ଶ b) 𝑥 c) ሺ1 ൅ 𝑥ଶሻିଷ/ଶ d) ሺ1 ൅ 𝑥ଶሻିଵ/ଶ



55. Value of tanିଵ ቀୱ୧୬ ଶିଵ

ୡ୭ୱ ଶ
ቁ is 

 a) 
𝜋
2

െ 1 b) 1 െ
𝜋
4

 c) 2 െ
𝜋
2

d) 
𝜋
4

െ 1 

56. If ∠𝐴 ൌ 90°in the triangle 𝐴𝐵𝐶, then tanିଵ ቀ ௖

௔ା௕
ቁ ൅ tanିଵ ቀ ௕

௔ା௖
ቁ is equal to

 a) 0 b) 1 c)
𝜋
4

d) 
𝜋
6

 

57. If െ
ଵ

ଶ
൑ 𝑥 ൑

ଵ

ଶ
, then cosିଵሺ4𝑥ଷ െ 3𝑥ሻ equals

 a) 3 cosିଵ 𝑥 b) 2𝜋 െ 3 cosିଵ 𝑥 c) െ2 𝜋 െ 3 cosିଵ 𝑥 d) None of these
58. If sinିଵ 𝑎 ൅ sinିଵ 𝑏 ൅ sinିଵ 𝑐 ൌ 𝜋, then the value of

𝑎ඥሺ1 െ 𝑎ଶሻ ൅ 𝑏ඥሺ1 െ 𝑏ଶሻ ൅ 𝑐ඥ1 െ 𝑐ଶሻwill be
 a) 2𝑎𝑏𝑐 b) 𝑎𝑏𝑐 c)

1
2

𝑎𝑏𝑐 d) 
1
3

𝑎𝑏𝑐

59. If sinିଵ 𝑥 ൅ sinିଵሺ1 െ 𝑥ሻ ൌ cosିଵ 𝑥, then 𝑥 belongs to
 a) ሼ1, 0ሽ b) ሼ-1, 1ሽ c) ൜0,

1
2

ൠ
d) ሼ2, 0ሽ 

60. If tanିଵ 𝑎 ൅ tanିଵ 𝑏 ൌ sinିଵ 1 െ tanିଵ 𝑐, then
 a) 𝑎 ൅ 𝑏 ൅ 𝑐 ൌ 𝑎𝑏𝑐 b) 𝑎𝑏 ൅ 𝑏𝑐 ൅ 𝑐𝑎 ൌ 𝑎𝑏𝑐
 c) 

1
𝑎

൅
1
𝑏

൅
1
𝑐

െ
1

𝑎𝑏𝑐
ൌ 0 d) 𝑎𝑏 ൅ 𝑏𝑐 ൅ 𝑐𝑎 ൌ 𝑎 ൅ 𝑏 ൅ 𝑐 

61. The value of 𝑥 for which cosିଵሺcos 4ሻ ൐ 3𝑥ଶ െ 4𝑥is
 

a) ቆ0,
2 ൅ √6𝜋 െ 8

3
ቇ b) ቆ

2 െ √6𝜋 െ 8
3

, 0ቇ 

 
c) ሺെ2,2ሻ d) ቆ

2 െ √6𝜋 െ 8
3

,
2 ൅ √6𝜋 െ 8

3
ቇ

62. If 𝑥 takes negative permissible value, then sinିଵ 𝑥 is equal to
 a) െ cosିଵ ඥ1 െ 𝑥ଶ b) cosିଵ ඥ𝑥ଶ െ 1 c) 𝜋 െ cosିଵ ඥ1 െ 𝑥ଶ d) cosିଵ ඥ1 െ 𝑥ଶ

63. The value of tanିଵ ଵ

ଶ
൅ tanିଵ ଵ

ଷ
൅ tanିଵ ଻

଼
is

 a) tanିଵ 7
8

 b) cotିଵ 15 c) tanିଵ 15 d) tanିଵ 25
24

 

64. The smallest and the largest values of tanିଵ ቀଵି௫

ଵା௫
ቁ , 0 ൑ 𝑥 ൑ 1 are

 a) 0, 𝜋 b) 0,
𝜋
4

 c) െ
𝜋
4

,
𝜋
4

d) 
𝜋
4

,
𝜋
2

 

65. If sinିଵ ଶ௔

ଵା௔మ െ cosିଵ ଵି௕మ

ଵା௕మ ൌ tanିଵ ଶ௫

ଵି௫మ, then the value of 𝑥 is

 a) 𝑎 b) 𝑏 c)
𝑎 ൅ 𝑏

1 െ 𝑎𝑏
d) 

𝑎 െ 𝑏
1 ൅ 𝑎𝑏

 

66. Number of solutions of the equation 

tanିଵ ቀ ଵ

ଶ௫ାଵ
ቁ ൅ tanିଵ ቀ ଵ

ସ௫ାଵ
ቁ ൌ tanିଵ ቀ ଶ

௫మቁ is

 a) 1 b) 2 c) 3 d) 4 
67. If െ

ଵ

ଶ
൑ 𝑥 ൑

ଵ

ଶ
, then sinିଵሺ3𝑥 െ 4𝑥ଷሻ equals

 a) 3 sinିଵ 𝑥 b) 𝜋 െ 3 sinିଵ 𝑥 c) െ𝜋 െ 3 sinିଵ 𝑥 d) None of these



68. If 𝑥 ∈ ሺെ∞, െ1ሻ, then sinିଵ ቀ ଶ௫

ଵା௫మቁ equals

 a) 2 tanିଵ 𝑥 b) 𝜋 െ 2 tanିଵ 𝑥 c) െ𝜋 െ 2 tanିଵ 𝑥 d) None of these
69. The sum of the infinite series 

sinିଵ ൬
1

√2
൰ ൅ sinିଵ ቆ

√2 െ 1

√6
ቇ ൅ sinିଵ ቆ

√3 െ √2

√12
ቇ ൅. . . 

൅. . . ൅ sinିଵ ൬√௡ିඥሺ௡ିଵሻ

ඥሼ௡ሺ௡ାଵሻሽ
൰ ൅. . . is 

 a) 
𝜋
8

 b) 
𝜋
4

c)
𝜋
2

d) 𝜋

70. If cosିଵ 𝑥 ൌ 𝛼, ሺ0 ൏ 𝑥 ൏ 1ሻ and 

sinିଵ൫2𝑥√1 െ 𝑥ଶ൯ ൅ secିଵ ቀ ଵ

ଶ௫మିଵ
ቁ ൌ

ଶగ

ଷ
, then tanିଵሺ2𝑥ሻ equals

 a) 𝜋/6 b) 𝜋/4 c) 𝜋/3 d) 𝜋/2 
71. If α ൌ sinିଵ ସ

ହ
൅ sinିଵ ଵ

ଷ
andβ ൌ cosିଵ ସ

ହ
൅ cosିଵ ଵ

ଷ
,then

 a) α ൏ 𝛽 b) α ൌ β c) α ൐ β d) None of these
72. If θ ൌ tanିଵ 𝑎, ϕ ൌtanିଵ 𝑏 and 𝑎𝑏ൌെ1,then ሺθ െ ϕሻ is equal to 
 a) 0 b) 

𝜋
4

c)
𝜋
2

d) None of these

73. If tan θ ൅ tan ቀగ

ଷ
൅ θቁ ൅ tan ቀെ

గ

ଷ
൅ θቁ ൌ 𝑎 tan 3θ, then 𝑎 is equal to

 a) 1 3⁄  b) 1 c) 3 d) None of these
74. If the ሺcosିଵ 𝑥ሻ ൌ sin ቀcotିଵ ଵ

ଶ
ቁ ,then 𝑥 is equal to

 
a) േ

5
3

 b) േ
√5
3

c) േ
5

√3

d) None of these

75. If sinିଵ ൌ
గ

ହ
, for some 𝑥 ∈ ሺെ1, 1ሻ, then the value of cosିଵ 𝑥 is

 a) 
3𝜋
10

 b) 
5𝜋
10

 c)
7𝜋
10

d) 
9𝜋
10

 

76. If 
ଵ

ଶ
൑ 𝑥 ൑ 1, then sinିଵሺ3𝑥 െ 4𝑥ଷሻ equals

 a) 3 sinିଵ 𝑥 b) 𝜋 െ 3 sinିଵ 𝑥 c) െ𝜋 െ 3 sinିଵ 𝑥 d) None of these
77. 

sinିଵ 4
5

൅ 2 tanିଵ 1
3

ൌ 

 a) 
𝜋
3

 b) 
𝜋
4

 c)
𝜋
2

d) 0 

78. If 𝑥, 𝑦, 𝑧 are in AP and tanିଵ 𝑥, tanିଵ 𝑦 and tanିଵ 𝑧 are also in AP, then
 a) 𝑥 ൌ 𝑦 ൌ 𝑧 b) 𝑥 ൌ 𝑦 ൌ െ𝑧 c) 𝑥 ൌ 1, 𝑦 ൌ 2, 𝑧 ൌ 3 d) 𝑥 ൌ 2, 𝑦 ൌ 4, 𝑧 ൌ 6
79. If 𝑎ଵ, 𝑎ଶ, 𝑎ଷ, … 𝑎௡ are in AP with common difference 5 and if 𝑎௜𝑎௝ ് െ1 for 𝑖, 𝑗 ൌ 1, 2, … , 𝑛 then

tanିଵ ቀ ହ

ଵା௔భ௔మ
ቁ ൅ tanିଵ ቀ ହ

ଵା௔మ௔య
ቁ ൅. . . ൅ tanିଵ ቀ ହ

ଵା௔೙షభ௔೙
ቁ is equal to

 
a) tanିଵ ൬

5
1 ൅ 𝑎௡𝑎௡ିଵ

൰ b) tanିଵ ൬
5𝑎ଵ

1 ൅ 𝑎௡𝑎ଵ
൰ c) tanିଵ ൬

5𝑛 െ 5
1 ൅ 𝑎௡𝑎ଵ

൰ d) tanିଵ ൬
5𝑛 െ 5

1 ൅ 𝑎ଵ𝑎௡ାଵ
൰

80. The relation tanିଵ ቀଵା௫

ଵି௫
ቁ ൌ

గ

ସ
൅ tanିଵ 𝑥 holds true for all

 a) 𝑥 ∈ 𝑅 b) 𝑥 ∈ ሺെ∞, 1ሻ c) 𝑥 ∈ ሺെ1, ∞ሻ d) 𝑥 ∈ ሺെ∞, െ1ሻ

 



 


